Name:…………………………………………………………        date:…………………………
Multiplying by 2

     [image: image1.png]


   There are 2 apples in a set.  Work out how many apples there are in the sums below.

1.     3 sets   [image: image2.png]


 (3 x 2)    =  ………………………………

2.    5 sets   [image: image3.png]


  (5 x 2)    =   ………………………………

3.    10 sets  [image: image4.png]


 (10 x 2)   =   ………………………………

4.    8 sets   [image: image5.png]


  (8 x 2)     =   ………………………………
5.    1 set    [image: image6.png]


   (1 x 2)     =   ………………………………

6.    7 sets   [image: image7.png]


  (7 x 2)    =   ………………………………

7.    9 sets  [image: image8.png]


  (9 x 2)    =    ………………………………

8.   4 sets    [image: image9.png]


  (4 x 2)    =   ……………………………….
9    2 sets   [image: image10.png]


  (2 x 2)     =   ………………………………… 

10.  6 sets  [image: image11.png]


  (6 x 2)     =   …………………………………

Name: ………………………………………………………   date: ………………………………
Multiplying by 3   balloons

[image: image12.png]


    There are 3 balloons in a set.  Work out how many balloons there are in the sums below.

1.  2 sets    [image: image13.png]


  (2 x 3)    =   ………………………………

2.  10 sets   [image: image14.png]


  (10 x 3)  =   ………………………………

3.   1 set      [image: image15.png]


  (1 X 3)  =   ………………………………

4.   4 sets    [image: image16.png]


  (4 x 3)  =   ………………………………

5.   7 sets    [image: image17.png]


  (7 x 3)  =   ………………………………

6.   3 sets      [image: image18.png]


  (3x3)  =   ……………………………………

7.   9 sets      [image: image19.png]


  (9x3)  =   ……………………………………

8.   5 sets       [image: image20.png]


  (5x3)  =  ……………………………………

9.   8 sets        [image: image21.png]


  (8x3)  =  ……………………………………

10.  6 sets        [image: image22.png]


  (6x3)  =  ……………………………………
Name:…………………………………………………………        date:…………………………
Multiplying by 4 candles

[image: image23.png]Il



      There are 4 candles in a set.  Work out how many candles there are in the sums below.

1.   2 sets of   [image: image24.png]Il



  (2 x 2)  =   …………………………………

2.   4 sets of   [image: image25.png]Il



  (4 x 4)  =   …………………………………

3.  10 sets of   [image: image26.png]Il



  (10 x 4)  =  ……………………………………

4.   6 sets of    [image: image27.png]Il



  (6 x 4)   =  ……………………………………

5.   1 set of      [image: image28.png]Il



   (1 x 4)   =  ………………………………….

6.   7 sets of   [image: image29.png]Il



   (7 x 4)   =  ……………………………………

7.    3 sets of   [image: image30.png]Il



  (3 x 4)   =  ……………………………………

8.    5 sets of   [image: image31.png]Il



  (5 x 4)  =  ……………………………………

9.    8 sets of   [image: image32.png]Il



  (8 x 4)  =  ……………………………………

10   9 sets of   [image: image33.png]Il



   (9 x 4)  =  ……………………………………
Name:…………………………………………………………        date:…………………………
Multiplying by 5 boxes

           [image: image34.png]


     There are 5 boxes in a set.  Work out how many boxes there are in the sums below.

1.    3 sets  [image: image35.png]


   (3 x 5)   =   ……………………………………

2.    6 sets   [image: image36.png]


  (6 x 5)  =   ……………………………………

3.    7 sets   [image: image37.png]


  (7 x 5)  =   ……………………………………

4.   10 sets   [image: image38.png]


 (10 x 5)  =   ……………………………………

5.   1 set       [image: image39.png]


  (1 x 5)   =   ……………………………………

6.   5 sets    [image: image40.png]


   (5 x 5)   =    ……………………………………

7.   9 sets   [image: image41.png]


    (9 x 5)   =   ………………………………………

8.   2 sets    [image: image42.png]


   (2 x 5)   =   ……………………………………… 

9.   8 sets    [image: image43.png]


  (8 x 5)    =   ………………………………………

10.  4 sets    [image: image44.png]


 (4 x 5)    =    ………………………………………

